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1

$ectlon A (24 marks)

Questions , to 4 c4lrry 1ma.rk each. Questions 5 to 14 carry 2marks each. Write

)rour ansr,\rers in the sp6rbs Provided. Show your vrcrkings clearly. For questions

which require units. give your answers in the units stated.

The bargnaph below shows the favourite sports of some children'

Favourite Sports

Number of 16
childrcn

t2

Tennis Soccer Swimming

Sports

Which is the sport that most children choose as their favourite?

Ans:

28

24

20

8

4

0
Basketball

Do notwrite
in this space

2 (Go on to the next page)



2. The bar graph shows the number of stt^rdents who visited the school
bookshop from Monday to Friday.

Number of students who visited the school bookshop

Friday

Thursday

Weekdays

Wednesday

Tuesday

Monday

0 5 10 l5 2A 25 30 35 40 45

Number of students

How many more students visited the bookshop on Monday than on
Tuesday?

Ans

Do not write
in this-space

3 (Go on to the next page)
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3. Write 2 km 560 m in metres.

Ans: m

Do not write
in this space

4. Anange this set of fractions in older, beginning w,ith the smallest-

22
7,3

2
5

Ans:
smallest

4 (Go on to the next page)



5. The bar graph shows the number of books four children have.
,.. ':;.- .,1,'1 -. -:..:...

Books that four children have

Number
of books

160

fia

fia

100

80

60

40

20

0
LiWei John Bala

Name of Children

Alice

How many books must John give to Bala so thbt they will have the same

number of books?

Ans

Do notwrtte
in this space

5 (Go on to the next page)
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6. The bar graph shows the number of tickets sold by the Primary 3 classes

for a school event-

Number of tickets sold

Number
of tickets

600

500

400

300

2AA

100

0
3A 38 3C

Primary 3 Classes

The tickets were sold for $4 each.

a) Which class sold the most number of tickets?

Ans: a)

3D

Do not write
in this space

b) How much money did the class in part (a) collect in total?

Ans: b) $.

(Go on to the next Page)6



7 Mr Tan used a 150-cm string to tie a box. 
.

He used another string that was 3 times as long to tie a bigger box.
What was tho total length of both strings used in centimetres?

Ans: cql

Do not write
in this space

8.
I

Express A in its simplest form.

Ans:

7 (Go on to the next page)



I What fiaction of the figure is shaded?

Give your answer in.the simplest form.

M -Rg1iir#ftH#_{rqruf

Ans:

Do notwrite
in this space

10.
61

Findtherralueof fO-S.
Give your answer in the simplest form

Ans:

11
11. Find the value of a* lZ .

Give your answer in the simplesl form.

8

Ans:

(Go on to the next Page)



12. The bank is open from 8.30 a-m- to 5.30 p.m.

Sam

Maya

a) How much time did Sam spend at the bank?

Ans: a) min

b) Who spent a longer time at the bank?

Ans: b)

Do not write
in this space

I (Go on to the next page)
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13, Mary poured 7 botUes of apple iuice into a container-

Each bottle cohtains 850 ml of apple juice-

' Given the mntainer has a capacity of 60OO ml, how much more apple

juice would be needed to fill the container completef?

Ans: ml

Do not write
in this space

14. Ben took th 50 min to walk from his house to the park-

He reached the Park at 9-10 a-m.

What time did he leave his house?

Ans: a.m

10 (Go on to the next Page)



Segtion B. (16 mirks)

Questions 15 to 18 carry 4 marks each. Show your working clearly and write

),our answers in the spaces provided. The number of marks available is shown
in brackets I I at the end of each question or part4uestion.

15. The total mass of a basket and some watermelons is 145 kg.
The mass of the empty basket is 6 kg,
Ahmad sold some of the watermelons and had 26 kg of the watermelon
left.
How many kilograms of the watermelons was sold?

Ans: I4l

Do notwrito
in this space

11 (Go on to the next page)



16. There are some trees planted in a row along a park.

Each tree is placed 7 m aPart.

1st zr,n

7m 7m

a) What is the distance between the first and third tree?

Ans: a)

?
Last

I2l

D6 notwrite
in this space

b) There are 18 trees altogether.
What is the totaldistance between the first ard last tree?

Ans: b) 12l

12 (Go on to the next Page)



17. Tlm saved $300.
Raja saved $70 less than Tim.
lGssim saved 6 thnes as much money as Tim.
a) How much money did Raja save?

Ans: [1]

b) How much monay did the three boys save altogether?

l3]

t3

Ans:

(Go on to the next page)

Do not write
in this space



18. XiPeng and Klm had 10O stickers.
Afrer Xi Peng gave Kim 15 stickers, X Peng had 4 times as many stickers

as Kim.

a) How many stickers did Kim have now?

Ans: a) l2l

Do notwrite
in this space

b) How many stickers did Xi Peng have at first?

Ans: b) t21

End of paper

14 (Go on to the next Page)



LEVEL :

SCHOOL:
SUBJECT:

TERM. :
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QT Swimming Q2 39-L2=27
q3 2550m q4 222

,'i'i
qs ls

150x4=600cm

a6

Q8

a) 38
bl 380 xZtZO = $2320
7
AQ7

qs 2) Q10 4
r

q11 4

72
+

15
a=-

t2 ,2
Q12

Q13 850x7=595O
6000- 5950 = S0ml

Q14

a$ Watermelon:145-5=139
Sold Watermelon : 139 - 26 = 113

113 kilograrns of the watermelons
was sold.

q16

Q,l7 RalartOO-}()=$23U
(a) Raia seved $2So

Kassim:30Ox6=18OO
Total : 18O0 + 3O0 + 23O = 2330
(b) The three boys saved SZggO

altogether.

oa8 {a} 5 units: 10O

(Kirn) : 100 + 5 = 2O Stickers

(b)20t4=$8o
{at first}Xi Peng:80 + 15 = 95

:7 +7
=14
(al The dlsrance is 14m

No.ofBaps:18-1=17
Dirtarce between first to last : 17 x

? =119
[b] The total distance between the
fust to last tree is

7.2Oa.m.
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